DU MPhil Phd in Sanskrit

Topic:- SANS MPHIL S2

1) “Somar=afdc Jd Afedsa SPII ST 7 - 3R AR A36l- feTRIearvy if¥a-

[Question ID = 9667]
1. “lBavasamidam sarvm _yatakiﬁc jagatyam jagat”

[Option ID = 38662]
2. “[avasamidam sarvm yatkincha jagatyam jagat”

[Option ID = 38663]
3. “[Savasyamidam sarvam yatkinca jagatyam jagat”

[Option ID = 38664]
4. “[savasamidam saravm yatkiﬁc jagatyam jagat”

[Option ID = 38665]

Correct Answer :-

e “[Savasyamidam sarvam yatkiﬁca jagatyam jagat”
[Option ID = 38664]

2) ‘o’ sfer orecol I A el ?

[Question ID = 9668]

1. 1 [Option ID = 38666]

2. 8 [Option ID = 38667]

3. 12 [Option ID = 38668]

4. 14 [Option ID = 38669]

Correct Answer :-
e 14 [Option ID = 38669]

3) SmarRicPIegIoRIRYI eI HivT Faiffrs IsraguialR«a-
[Question ID = 9669]

1. ordiotreti demend sieduvre [Option ID = 38670]

2. 3ucTetlloli eIl offolRIol [Option 1D = 38671]

3. dicfiiteaaer [Option ID = 38672]
4. siegig faaz: [Option ID = 38673]

Correct Answer :-
® sirorgig fazae: [Option ID = 38673]

4) ordiclieli ATSATVTH D “HEHRARR Plergolfoierkunpy”  sneforponeragfe-ecar sif3a -
[Question ID = 9670]

s sie] [Option ID = 38674]

. Slojuctet 3ucifeer: [Option ID = 38675]

. 3uctee olterotd [Option ID = 38676]

. 3ucteerz 3uzemuoid [Option ID = 38677]

A W N -

Correct Answer :-

® 3ucteere olteretd] [Option ID = 38676]

5) orcarIcrnd aifdfd sfealaar ferftr: sif3a-
[Question ID = 9671]

1. a2t [Option ID = 38678]

2. @adft [Option ID = 38679]

3. greft [Option ID = 38680]

4. <oiroft [Option ID = 38681]

Correct Answer :-
® zqoiroft [Option ID = 38681]

6) sEIUGRRIUR UgedaeRA el YIRId-
[Question ID = 9672]

1. sifdrstetondgoaet [Option ID = 38682]

2. Repgidefit [Option ID = 38683]

3. aciiBai [Option D = 38684]

4. scoofed [Option 1D = 38685]

Correct Answer :-



o @l [Option ID = 38683]

7) afd:, afl¥arge, cRdell , uq Adui CRAGIURIIRSI-ATEGIGd]  Tdbd) Tl cI9Ad-

[Question ID = 9673]
foraafasorzci [Option ID = 38686]
. Braamwsazdiy [Option ID = 38687]
. snféerecrdlg [Option ID = 38688]
. srcraapefiariey [Option ID = 38689]

Correct Answer :-
o faafdForzdi) [Option ID = 38686]

8) o fa=rfigrdur udyeEi ucclas Rigloar: Rerdiaar:?

[Question ID = 9674]

1. srqon [Option ID = 38690]

2. gwivr [Option ID = 38691]

3. disheerarsmmior [Option ID = 38692]

4. Storsie-daemsiol [Option ID = 38693]

A W N -

Correct Answer :-
® Selsicl-aEemiel [Option ID = 38693]

9) onerprRIzA FHifcraaifasrRl et sufl¥a-
[Question ID = 9675]
. #iferapdr sfoRictoR:I YR araalda [Option ID = 38694]
RIsTeIfRRI Al AMfERRIEA e d 9ltdrly Jfefpdrt of  of2ig oc: si3a [Option ID = 38695]

. ollerprY aiiferper farrrms srafer [Option ID = 38696]
. olterprt afiferepai fordig desiell URIURSbIdsteEeduurEIY smagrmaa3a [Option ID = 38697]

A WN =

Correct Answer :-

® fIsTelfRRIE gl AMfSRREAGol a DRIy Ffcibdrt of  ®idg die: si¥a [Option ID = 38695]

10) e onf¥a-

[Question ID = 9676]

SoRIGHICRIACIIKORIL: el JAbcloRA Aatd smafl [Option ID = 38698]
SloRIGICRIIICIAGRI: delel d[gui =Pl a fRId [Option ID = 38699]
SloRIGEITCRIACIoR: (e lloll IRITor fara3uvi @ faR [Option ID = 38700]
. 3iofotilol AAICIdel a Wikl x1: [Option ID = 38701]

AW N -

Correct Answer :-
® 3opRictlol AdAlcidon d Wik & [Option ID = 38701]

11) ARBATTRIBGII MR APPIADCIOIRI JFRRATEOTY of Afod -
[Question ID = 9677]

1. sy ollerggoen: [Option ID = 38702]

2. Jgaeiamonfor (E-Sources) [Option ID = 38703]

3. fyeafderncrnen utenysuqior - [Option ID = 38704]

4. Reawier: [Option ID = 38705]

Correct Answer :-

12) srenfaf3aay Ascsseeryean: acd suf¥d-
[Question ID = 9678]

1. cra®m o [Option ID = 38706]

2. ywrr: [Option ID = 38707]

3. ymreerRerenr [Option ID = 38708]

4. cramza dfdrfe: [Option ID = 38709]

Correct Answer :-
® cam difgraufe: [Option ID = 38709]

13) senfafRaay onergzamd of smafer-
[Question ID = 9679]

oherfafér: [Option ID = 38710]

. srerRIfderStowy [Option ID = 38711]

. diiferpar: f=iff: [Option ID = 38712]

. fawerzr Jercuf¥arr: [Option ID = 38713]

A W N -

Correct Answer :-
o iiferar: fasifa: [Option ID = 38712]

14) IARRRA ATCATIHDIAIDT HFUISAI -
[Question ID = 9680]



yoi¥erdrq sivsRayrcafdenizemniq [Option ID = 38714]
. Sslei¥ed yraafdemrizermsid [Option ID = 38715]

. fEectif¥erq aftcrrizaasizems [Option ID = 38716]

. fectif¥erare fcaumsfefifionrizend: [Option ID = 38717]

A W N -

Correct Answer :-
o gSigiBerdn yreaRemizemsi [Option ID = 38715]
15) ‘G DercierRy derediRd’ ( New Catalogus Catalogorum) se=r yga: Asurcmrsida -
[Question ID = 9681]
sIRwoLam3me: [Option ID = 38718]
ot 21eraog [Option 1D = 38719]
fsadoy; [Option ID = 38720]
eeapyzan srxedt [Option ID = 38721]

A W N -

Correct Answer :-

o df.3maaoy [Option ID = 38719]

16) dl.u3y. JaeidIVT AR MUV TAIIGIcHD DI YRR AT
[Question ID = 9682]

1. 1893 @i Hfieersd [Option ID = 38722]

2. 1911 @ wfiwersd [Option ID = 38723]

3. 1933 @ wiwersd [Option ID = 38724]

4. 1964 @ Hiwerss [Option ID = 38725]

Correct Answer :-
® 1933 ad xfiwersg [Option ID = 38724]

17) ‘Izadissa’ -omee: umsferdien Jsprern: Rerd: sif¥a-
[Question ID = 9683]

1. arvrfes [Option ID = 38726]

2. dsizomr [Option ID = 38727]

3. origeowi [Option ID = 38728]

4. aSiapR [Option ID = 38729]

Correct Answer :-

® dsiteoer [Option ID = 38727]

18) ofergacer= ufsforse o srafod-

[Question ID = 9684]
oleIgaaeiuRIfIeer: Siojapaiiet: [Option ID = 38730]
Jocefoloeleld] slofaefvrt: [Option ID = 38731]
SIYDIIIIol BFAcGDIol Jcer: [Option ID = 38732]
urgferunfier JdargrigiagIer: [Option ID = 38733]

A W N -

Correct Answer :-
o ursfetunfion JAddsRIgpaA: [Option ID = 38733]

19) “yditrIoqica=T crofformay siezrroy” st ofer=r fad wafifiol werotey 3if3-
[Question ID = 9685]

. ydierdoegict olerr 8, grolfordreRrrol @ oferser efte: 3if¥a [Option ID = 38734]

aolferpTeRTol giters<r 81| ydlerodiod o elerer efe: a3 [Option ID = 38735]

¥ oNerRI 8Xf, Yalerdogiae arolforapreeriol a oferer exdt 2: [Option ID = 38736]

. Swfept: AWt Riveur: wwdidior: [Option 1D = 38737]

A W N -

Correct Answer :-
o ydlerodicd olters 81, SrelfrbTeRrIol o giterser #fte: ada [Option ID = 38734]
20) 3reAceeIRI Siforaria: srigad-
[Question ID = 9686]
steRteerdr [Option ID = 38738]
ez [Option ID = 38739]
wmar [Option ID = 38740]
Sufept: RIS freveur: 2wiidion: [Option ID = 38741]

A w N =

Correct Answer :-
® 3Wfpr: AdsfY fpeur: wfidiom: [Option ID = 38741]

21) A, uwsglfufdsirel. ISLSRIYR: ISR-ATG 3531 sfger srprcsl, 1978. sitraq Ascsseerydifsmiivr- dicll werrd-

[Question ID = 9687]
1. uHuelE dct(MLA style)

[Option ID = 38742]
2. udte St (APA Style)



[Option ID = 38743]
3. fermmndictt (Chicago Style)

[Option ID = 38744]
4. woee dich (ASA Style)

[Option ID = 38745]

Correct Answer :-
e uIueLu. Aet(MLA style)
[Option ID = 38742]

22) “On the meaning of the Mahabharata” 3¢ gyzawd sif¥a-
[Question ID = 9688]

3II, U], GIUSHRI RIRGlel Ife:  [Option ID = 38746]

dt e el IRl 3dfe:  [Option ID = 38747]

ARCRRI RIRoI01 3dfe:  [Option ID = 38748]

fervaavicel Reee IE:  [Option ID = 38749]

AW N =

Correct Answer :-

23) acagaenfIquen Seifegofl-faemr (Diary Form)yvfiar yfdtgr 2o sif¥a-
[Question ID = 9689]

1. f39l ol enfel ackersiiqem [Option 1D = 38750]

2. afdrfere: [Option ID = 38751]

3. Ro R sgeow  [Option ID = 38752]

4. sigfdom scets: [Option ID = 38753]

Correct Answer :-
e ol feal enfer adkstiaorey [Option ID = 38750]

24) “Jizgaufdacrd]”’ sie old® AvrpaATdIidpardiudg YaroAad
[Question ID = 9690]

1. Jorea: [Option ID = 38754]

2. oufdoa: [Option ID = 38755]

3. omigza: [Option ID = 38756]

4. el [Option ID = 38757]

Correct Answer :-
o omigz: [Option ID = 38756]
25) Iirapd ISAA fEdRmdIede Fdiod ©R geors JdeR: fdamermmri 2019 ad 9 IsiurRionecIfitRIs grdid-
[Question ID = 9691]
IRravs [Option ID = 38758]
Sy [Option ID = 38759]

fEamaeygor [Option ID = 38760]
apstaygerzer [Option ID = 38761]

A w N =

Correct Answer :-

o faaraciyger [Option ID = 38760]

26) 3rdfs FAerRRUdsSY g Uiz U3l forpkedr 3 dgaagen sfidal Aol 3171 Ao Bog: 3R¥d-
[Question ID = 9692]

1. forgeopey [Option ID = 38762]

2. frrsoprey [Option ID = 38763]

3. 9f¥m-fopey [Option ID = 38764]

4. faerssridt [Option ID = 38765]

Correct Answer :-

® forgageey [Option ID = 38762]
27) “wgurafderr safoa” - sfer aaey sif¥a-
[Question ID = 9693]
. dligrermrm [Option ID = 38766]
areferor: [Option ID = 38767]
aerIeReI [Option ID = 38768]
atreyst: [Option 1D = 38769]

-

A w N

Correct Answer :-

o amwifemy: [Option ID = 38767]

28) “ rct: Fasiral foraferieesr..”  sfer Aoqicon ‘smpRarbt yiffy:’ sfer sifdgrn: ilRa-
[Question ID = 9694]



@rerz=r [Option ID = 38770]
Fasmraz [Option ID = 38771]
forrk: [Option ID = 38772]
erecgrn: [Option ID = 38773]

A W N -

Correct Answer :-
e ecorm: [Option ID = 38773]

29) “3J...... JURIA  3ictload: Yfaerfoa” - 3rq fepzemst R gk fawea: sif¥a -

[Question ID = 9695]

. Brifeeg [Option ID = 38774]
8aag [Option ID = 38775]

. 3RRIe] [Option ID = 38776]

. arwew [Option ID = 38777]

A W N -

Correct Answer :-
o spwRe [Option ID = 38777]

30) "SRICRIPIRITIGID ATGRIGRITY ghyIUd,  WuUfdc AfIgA scfel i gallfel a A" sealRao] Afdacuviiga oIl if¥a-

[Question ID = 9696]

1. fRuresmaiicer: [Option ID = 38778]

2. sgemaza enfda: [Option ID = 38779]

3. aufurea: Afde: [Option 1D = 38780]

4. IeRGSsasTarT raerer [Option 1D = 38781]

Correct Answer :-
e guifdureal: Aufse: [Option ID = 38780]

31) qeamoaia-

[Question ID = 9697]

1. fordeuried: srgewy [Option ID = 38782]

2. ydameirRI: 3rgew] [Option ID = 38783]

3. smce: 3rgeE [Option ID = 38784]

4. crRRISeIe] ud: Yite: [Option ID = 38785]

Correct Answer :-
® 3msicar: 3r3ore [Option ID = 38784]
32) “ Rifvsfepafdsree] Sagdol” - sRRI USIcR: araRi oif3d, Jqr f2-
[Question ID = 9698]
. 31 ucrerfell u3¥uRAFEod arer i3 [Option ID = 38786]
. gelidt wiqemeifiees fiRe: snf¥a [Option ID = 38787]
3K ggeafacays: onfda [Option ID = 38788]
. 3wy of Bfg fadeu: Jwfidier: [Option ID = 38789]

A WN -

Correct Answer :-
® 3 ggeafacse: onf3a [Option ID = 38788]

33) werfagzE: argorcht srai Rear sra: Ra-
[Question ID = 9699]

1. egorem: [Option ID = 38790]

2. aremm: [Option ID = 38791]

3. amm: [Option ID = 38792]

4. wwsae: [Option ID = 38793]

Correct Answer :-
® 3Jpae: [Option ID = 38793]

34) siuthizrafyas= yepret Sfecalaan feftr: si¥a-
[Question ID = 9700]

1. ot [Option ID = 38794]

2. dasif [Option ID = 38795]

3. derdt [Option ID = 38796]

4. greft [Option ID = 38797]

Correct Answer :-
e Jerft [Option ID = 38796]

35) gooRD EIEARIA &: FeAIRIA? -
[Question ID = 9701]

1. smlo: [Option ID = 38798]

2. arsea: [Option ID = 38799]

3. dogera: [Option ID = 38800]

4. 9fiferep: [Option ID = 38801]



Correct Answer :-
® arsaa: [Option ID = 38799]

36) arcdifcen qorerdl GRilfdemarenitedl-
[Question ID = 9702]

amfeer et i [Option ID = 38802]

. a1t o ail [Option ID = 38803]

. oni¥ e o [Option ID = 38804]

. ansfe1 g9 aif [Option ID = 38805]

A W N -

Correct Answer :-
o opfer upreor ad [Option ID = 38804]

37) ycoofed “aftr:”  sfer uga sifdida:-
[Question ID = 9703]

1. urer: [Option ID = 38806]

2. smfo: [Option ID = 38807]

3. gmpr: [Option ID = 38808]

4. arpea: [Option ID = 38809]

Correct Answer :-
e gr: [Option ID = 38808]
38) “raRaifdoRR~I WeldoAA” - s arari @ sifdrergircId-
[Question ID = 9704]
gporaasa] [Option ID = 38810]

1.

2. @ocudqge [Option ID = 38811]
3. dmeca [Option ID = 38812]
4.

gremufepy [Option ID = 38813]

Correct Answer :-
® giparaad [Option ID = 38810]

39) “smopmensfr araf¥ear” if3dc] ardd “3MORNOL: ”sIRRA ugkarel: -

[Question ID = 9705]
1. afor: [Option ID = 38814]
2. arg: [Option ID = 38815]
3. emx [Option ID = 38816]
4. @2 [Option ID = 38817]

Correct Answer :-
e 3ifSor: [Option ID = 38814]
40) “fCaImRUSHIGIULHAUGIGHENT0l” - 3Rl U] JdiRieaus forfdorfer-
[Question ID = 9706]
. gusdaotd [Option ID = 38818]
. fetzraery [Option ID = 38819]
. feearaeny [Option ID = 38820]
. 3prRengEd [Option ID = 38821]

A W N -

Correct Answer :-
e fRtemaey [Option ID = 38820]
41) TOHIIGRIRYI 3Micdol: faeRl sR1ilel ey sifa-
[Question ID = 9707]
3 gexel a3 [Option ID = 38822]
atcer yferersts oot s [Option ID = 38823]
. 31ren AeuisaEe] 3i3a [Option ID = 38824]
. 31 RadEAufsaAmEre] si¥a [Option ID = 38825]

Correct Answer :-
® i FreRreuidaare] 3i¥a [Option ID = 38824]

A w N =

42) fgcmvryfegRmr Fgwpifer dwarfer Afed-
[Question ID = 9708]

1. Rere smu: siwof @ [Option ID = 38826]

2. a: aer: g @ [Option ID = 38827]

3. Qor: a1 3ol @ [Option ID = 38828]

4. frrd ara: 9f: a [Option ID = 38829]

Correct Answer :-

® Sk 3mu: 3ol @ [Option ID = 38828]

43) “yferferermeaaarn eecd] - seafldicerson ‘gferfarerr:’ sl if¥a -



[Question ID = 9709]

1. sor: [Option ID = 38830]

2. gfg: [Option ID = 38831]

3. fwrrifSoratersiifsgznfor [Option ID = 38832]
4. ggeguep: yau: [Option ID = 38833]

Correct Answer :-
o fwrifsoraterofifogznfor [Option ID = 38832]
44) srgeIyecRIFceEied: fafer: sla-
[Question ID = 9710]

1. 3cuferfafér: [Option ID = 38834]

2. fafsrherfafe: [Option ID = 38835]

3. ydeiaf: [Option ID = 38836]
4. afwnRf: [Option ID = 38837]

Correct Answer :-
o fafornerfafe: [Option ID = 38835]

45) wmficeriy af¥a-
[Question ID = 9711]
1. grewravizr [Option ID = 38838]

2. eifepraviz [Option ID = 38839]
3. Jouauiza [Option ID = 38840]

4. ydfepreri arfumg [Option ID = 38841]

Correct Answer :-
e Jozquizr [Option ID = 38840]

46) “retRl AR’ scgdcdl ol DR faa géRm? -
[Question ID = 9712]

1. amd [Option ID = 38842]

2. yetue [Option ID = 38843]

3. 34 [Option ID = 38844]

4. amyd [Option ID = 38845]

Correct Answer :-
e g [Option ID = 38843]

47) “ gremll” - seuq Fcafdasiri sieadl gern: sifi¥a-
[Question ID = 9713]
1. <y [Option ID = 38846]
2. STy [Option ID = 38847]
3. @leg [Option ID = 38848]
4. $s [Option ID = 38849]

Correct Answer :-
e Sio [Option ID = 38848]

[Question ID = 9714]

1. A. sifd, shafdero]
[Option ID = 38850]

2. B. sifa, s
[Option ID = 38851]

3. A, B sfe fdocugzi 2wy
[Option ID = 38852]

4. A ,B sftr fRivcuged srirg

[Option ID = 38853]

Correct Answer :-
e B. aifu, s

[Option ID = 38851]

49) areia 13 yep: ‘derel sfer- orec: Iersvmy SIf¥d-
[Question ID = 9715]

srefziprae [Option ID = 38854]

sreffizarzzar [Option ID = 38855]

srerfgor=r [Option ID = 38856]

srerfudiz= [Option ID = 38857]

A wWw N -



Correct Answer :-
o peffdarz [Option ID = 38855]

50) ez smur sni¥a-
[Question ID = 9716]

. sz [Option ID = 38858]

. ®aJOption ID = 38859]

. e [Option ID = 38860]

. Rrepsmfreror [Option ID = 38861]

A W N -

Correct Answer :-
e wq[Option ID = 38859]





